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 BBYCT-137  

B.Sc. GENERAL (BSCG) 

Term-End Examination 

December, 2021 

 

BBYCT-137 : PLANT PHYSIOLOGY AND 

METABOLISM   

Time : 2 hours Maximum Marks : 50 

Note :  Question no. 1 is compulsory. Attempt any four 

questions from question nos. 2 to 8. Draw well 

labelled diagram wherever necessary.   

 

1. (a) State whether the following statements are 

true or false :  4
2

1
=2 

(i) Most of the transpiration occurs 

through stomata in leaves.  

(ii) Deficiency symptoms of Mn are first 

visible in older leaves.  

(iii) Photorespiration is not present in 

CAM plants.  

(iv) The translocation of gibberellins is 

polar. 
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(b) Fill in the blanks :  31=3 

(i) Abscisic acid ________ growth in the 

plants. 

(ii) K+ absorption can be completely 

inhibited by ________. 

(iii) The CO2 acceptor molecule in Calvin 

cycle is ________.  

(c) Define the following terms :  51=5 

(i) Imbibition  

(ii) Osmosis  

(iii) Respiratory quotient  

(iv) Phenotypic plasticity  

(v) Embolism  

2. Discuss non-cyclic and cyclic 

photophosphorylation with well-labelled 

diagrams.  10 

3. Discuss biochemical and physiological functions 

of essential elements. List any five 

micronutrients and discuss their role and 

deficiency symptoms in plants.  10 

4. List any four plant hormones apart from Auxin. 

Discuss any four bioassays and functions of 

Auxins.   10 
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5. Give an overview of the process of Glycolysis 

with proper schematic diagram. Also summarise 

the energy output of EMP pathway.  10 

6. What are phytochromes and how were they 

discovered ? Discuss phytochrome mediated 

responses.  10 

7. (a) What is photorespiration ? Discuss its 

significance in plants.  5 

(b) Briefly describe the mechanism of enzyme 

action.  5 

8. Write short notes on any two of the  

following :  25=10 

(a) Biological clock  

(b) Isoenzymes  

(c) C4 plants  

(d) Vernalization  
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~r.~r.dmB©.gr.Q>r.-137 : nmXn H$m{`©H$s Am¡a CnmnM` 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> :  àíZ g§. 1 A{Zdm`© h¡ & àíZ g§. 2 go 8 _| go {H$Ýht Mma 
àíZm| Ho$ CÎma Xr{OE & Ohm± H$ht Amdí`H$ hmo, dhm± 
gwZm_m§{H$V Amao{IV {MÌ ~ZmBE &     

 

1. (H$) ~VmBE {H$ {ZåZ{b{IV H$WZ gË` h¢ AWdm  

AgË`  : 4
2

1
=2 

(i) n{Îm`m| _| dmînmoËgO©Z Á`mXmVa a§Y« Ûmam hr 
hmoVm h¡ &  

(ii) Mn H$s H$_r Ho$ bjU g~go nhbo nwamZr 
n{Îm`m| _| {XImB© XoVo h¢ &  

(iii) CAM nmXnm| _| àH$me-ídgZ Zht nm`m 
OmVm h¡ &  

(iv) {O~ao{bZ H$m ñWmZmÝVaU Y«wdr` hmoVm h¡ &  
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(I) [aº$ ñWmZm| H$s ny{V© H$s{OE :  31=3 

(i) Eãgr{gH$ Aåb nmXnm| H$s d¥{Õ H$mo 

________ H$aVm h¡ &  

(ii) K+ H$m AdemofU ________ Ûmam nyU©V… 

~m{YV hmo gH$Vm h¡ &  

(iii) H¡$pëdZ MH«$ _| CO2 H$mo àmßV H$aZo dmbm 

AUw ________ h¡ &  

(J) {ZåZ{b{IV nXm| H$mo n[a^m{fV H$s{OE :  51=5 

(i) A§V…emofU 

(ii) namgaU 

(iii) ídgZ ^mJ\$b  

(iv) bjUàê$nr gwKQ²>`Vm  

(v) dm{hH$mamoY  

2. AMH«$s` Ed§ MH«$s` àH$me-\$m°ñ\o$Q>rH$aU H$s gwZm_m§{H$V 
{MÌ ~ZmH$a {ddoMZm H$s{OE &    10 

3. A{Zdm`© VÎdm| H$s O¡d-amgm`{ZH$ Ed§ H$m{`©H$s` H$m`m] H$s 
{ddoMZm H$s{OE & {H$Ýht nm±M gyú_nmofH$m| H$s gyMr ~ZmBE 
Am¡a BZH$s ^y{_H$m Ed§ nmXnm| _| BZH$s H$_r go hmoZo dmbo 
bjUm| H$s MMm© H$s{OE &    10 

4. Am°pŠgZ Ho$ Abmdm {H$Ýht Mma nmXn hm°_m}Zm| H$s gyMr 
~ZmBE & Am°pŠgZ H$s {H$Ýht Mma O¡d-Am_mnZ Ed§ H$m`m] 
H$s {ddoMZm H$s{OE &   10 
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5. C{MV AmaoIr` {MÌ g{hV ½bmBH$m°{b{gg H$s à{H«$`m H$m 
AdbmoH$Z H$s{OE & B©.E_.nr. (EMP) nW _| D$Om© 
CËnmXZ H$m g§jon _| {ddaU ^r Xr{OE &    10 

6. \$mBQ>moH«$mo_ Š`m h¢ Am¡a BZH$s ImoO {H$g àH$ma hþB© ? 

\$mBQ>moH«$mo_ Ho$ Ûmam _Ü`ñW AZw{H«$`mAm| H$s {ddoMZm 
H$s{OE &    10 

7. (H$) àH$me-ídgZ Š`m h¡ ? nmXnm| _| BgHo$ _hÎd H$s 
MMm© H$s{OE &  5 

(I) EÝµOmB_ {H«$`m H$s {H«$`m{d{Y H$m g§{jßV dU©Z 
H$s{OE &  5 

8. {ZåZ{b{IV _| go {H$Ýht Xmo  na g§{jßV {Q>ßn{U`m±  
{b{IE :   25=10 

(H$) O¡{dH$ K‹S>r  

(I) AmBgmoEÝµOmB_  

(J) C4 nmXn  

(K) dg§VrH$aU 

 

 


